WA Exercises

In Exercises 1-8, let f(x) = x* + 5,g(x) = x* — 2,and
h(x) = 2x + 4. Find the rule for each function.
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In Exercises 9-18, let f(x) =x — 1,9(x) = Vx + 1,and
h(x) = 2x* — 1. Find the rule for each function.
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In Exercises 19-24, find the functions f + g, f — g, fg, and f/g.
(19.)f(x) = 2+ 5;9(x)=Vx -2
20. f(x) = Vi - Lgx) =x*+1

21. f(x) = Vx+3;9(x) = oy
1
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4 f(x) =22+ 1,g(x) = Vx+1

In Exercises 25-30, find the rules for the composite functions
fegandgef.

25. f(x) =x+x+ 1;9x) =2
 flx) =3+ 20+ 1;g9(x) =x+3

27, f(x) Vx+ 1g(x) =x" -1

 f(x) =2Va+ 3;g9(x) =x* + 1

0. () = VAT Tigle) = =7

In Exercises 31-34, evaluate h(2), where h = g f.
3L f(x) = x2+x+ 1;g(x) = x2
32 f(x)=Vax*— L;g(x) = 3* + 1

1
2o+ 1

3. flx) = 19(x) = Vax
1

1,g()—x2+1

34, f(x) =

In Exercises 35-42, find functions fand g such thath = g of.
(Note: The answer is not unique.)

35. h(x) = (2 + 2+ 1)° 36. h(x) = (3x* - 4)

3. h(x) = V& - 1 38. h(x) = (2 — 3)
3. h(x) = — i, Hfi= =
1 P . h(x T
1
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In Exercises 43-46, find f(a + h) —
Simplify your answer.

f(a) for each function.

43. f(x) =3x+4

45. f(x) = 4 — x°

In Exercises 47-52, find and simplify
f(a + h) — f(a)

: (h#0)

for each function.

(4. f(x) =x*+ 1 48. f(x) =2 —x + 1




